
1 Add or subtract:

37  +  20  =    

68  ‒  30  =    

51  +  40  =    

72  ‒  50  =  4 marks

6 marks

6 marks
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2 Find the missing numbers:

62  +  21  =    

54  +  32  =    

38  + =  49

45  + =  78

63  ‒  11 =    

65  ‒             =  44
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3 Add these near multiples of 10s:

67  +  9  =     

42  +  19  =    

53  +  19  =     

35  +  29  =         

26  +  39  =    

77  +  29  = 



4 marks
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4 Complete these by adding the 10s then the 1s.

32  +  13  =   

44  +  24  =   

63  +  26  =    

52  +  47  =    

 Total /20 = 


